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General Instructions to Candidates. 
 

 There is a ‘Cool off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool of time’ to get familiar with questions and to plan your answers  

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 Give equations wherever necessary. 

 Electronic devices except non programmable calculators are not allowed in the 
examination hall. 

 
 
 
വിദّാർ،ികൾتുׯെപാതുനിർേؐശ׹ൾ 

 നിർؐിذസമയ؋ിന്പുറെമ 15 മിനി؂ു ‘കൂൾഓഫ്ൈടം’ഉ؇ായിരിുׯം 

 ‘കൂൾഓഫ്ൈടം’േചാദّ׹ൾപരിചയെؚടാനുംഉ؋ര׹ൾആസൂْതണംെചإാനുംഉപ
േയാഗിുׯക 

 
 ഉ؋ര׹ൾഎഴുതുؗതിനുമു്آേചാദّ׹ൾْശؑാപൂർجംവായിׯണം 

 നിർേؐശ׹ൾമുഴുവനുംْശؑാപൂർجംവായിׯണം 

 കണുׯകൂ؂ലുകൾ, ചിْത׹ൾ , 
ْഗാഫുകൾഎؗിവഉ؋രׯടലാസിൽതെؗഉ؇ായിരിׯണം 

 
 േചാദّ׹ൾമലയാള؋ിലുംനൽകിയി؂ു؇് 

 ആവശّമുرتലു؋സമവാകّ׹ൾെകാടുׯണം 

 േْപാْഗാമുകൾെചإാനാകാ؋കാൽുׯേലئറുകൾഒഴിെകയുتഒരുഇലക്േْടാണിക്ഉപ
കരണവുംപരീײഹാളിൽഉപേയാഗിുׯവാൻപാടുتതب 

 
 



Answer any 8 from the following (8X1=8) 

1.Name the market in which the firm is a price taker. 

2.TFC +TVC =------------------ 

3.Who is known as the father of modern macro economics? 

4.The point below the PPC IS  ______________. 

5.The situation in which market demand is greater than market supply. 

6.A good which can be used in place of another good is called ________________. 

7.Commodities are exchanged for commodities is called ________________. 

8.Note issuing  authority in India is _____________’ 

9.MPC +MPS = ______________ 

10.Which of the following is not a direct tax. 

(Sales tax,income tax,wealth tax,corporate tax) 

Answer any 4  (4X2 =8) 

11.What are the different sectors of the economy? 

12.Write any two factors which determines the supply of money. 

13.Write the appropriate term for the following 

(a)Want satisfying power of a commodity 

(b)Revenue per unit of output 

14.Classify the following into Micro and Macro Economics 

(Inflation,percapita income,national income,salary of a teacher) 

15.Write any two objectives of budget 

Answer any 4 (4 X 3 = 12) 

16.What are the three conditions of a perfect competitive market for maximizing profit? 

17.Differentiate between substitute goods and complementary goods  with example. 

18.Qs = 20 + P,        QD = 50 – P 

(a) Findout the equilibrium price. 

(b) Find out the equilibrium quantity 

 



I. GsX-¦nepw 8 F®-¯n\v D¯-c-sa-gp-XpI       (8x 1=8) 
1. DXv]m-Z-\-bq-Wn-ä-ns\ hne-k-zo-IÀ¯mhv  F¶v And-b-s¸-Sp¶ It¼m-f-taXv 

?................................... 

2.  TFC + TVC = …………………….. 
3. kvYqe km¼-¯nI imkv{X-¯nsâ ]nXmhv  F¶-dn-b-s¸-S-¶-

Xmcv?................................... 
4. DXv]mZ-\-km-[-y-Xm-h-{I-¯nsâ Xmsg-bp-ff _nµp F´ns\ kqNn-¸n-¡p-¶p. 
5. sam¯w  {]Zm-\-s¯-¡mÄ sam¯w tNmZ\w IqSp-X-em-Ip¶ 

AhØ?.................................... 
6. Hcp hkvX-hn\p ]Icw D]-tbm-Kn-¡m³ Ign-bp¶ hkvXp-hnsâ t]cv F´v 

?................................ 

7. km[-\-§Ä¡p ]Icw km[-\-§Ä ssIam-dp¶ coXnsb ………. F¶v hnfn-
¡p¶p ? 

8. C´-y-bnÂ  Id³kn-t\m«v A¨-Sn-¡p-hm³ A[n-Im-c-ap-ff _m¦v ………….. 

9.  MPC + MPS= ……………. 
10. Xmsg ]d-bp-¶-XnÂ  GXmWv {]X-y£ \nIpXn AÃm-¯Xv ? 

(hnÂ]\ \nIp-Xn, BZm-b-\n-Ip-Xn, kz¯p \nIp-Xn, tImÀ]-tdäv  \nIp-Xn) 

II. GsX-¦nepw 4 F®-¯n\v D¯-c-sa-gp-XpI          (4 X 2=8) 
11. Hcp k¼Zvhy-h-Ø-bnse hnhn[ taJ-e-IÄ GsXÃmw ? 
12. ]W-{]-Zm\w \nÀW-bn-¡p¶ GsX-¦nepw 2 LS-I§Ä Fgp-Xp-I. 
13. Xmsg X¶n-cn-¡phbv¡v DNn-X-amb t]cp-IÄ \ÂIp-I. 

a.  Bh-i-y-§sf  Xy-]vXn-s¸-Sp-¯p-hm-\p-ff Hcp hkvXp-hnsâ Ignhv 

…………………… 
b. Hmtcm bqWnäv DÂ]-¶-̄ n-\p-ap-ff hcp-am\w  

14. Xmsg-¯-¶n-cn-¡p-¶-hsb kq£-aþ Øqe km¼-¯nI imkv{X-     
     §-fmbn Xcw Xncn-¡p-I. 
     (hn-e-¡-bäw , Btfm-lcn hcp-am-\w, Hc-[-ym-]I i¼-fw, tZiob    
       hcp-am-\w) 

15.   _P-änsâ GsX-¦nepw 2 [À½-§Ä  Fgp-XpI  

III GsX-¦nepw 4 F®-¯n\v D¯-c-sa-gp-XpI        (4 x3=12) 

16. Hcp ]qÀW-a-Õ-c-¡-t¼m-f-¯nÂ em`w ]c-am-h[n  B¡p-¶-Xn-\p-ff 3 \n_-Ô-\-
IÄ GsXÃmw? 

17. {]Xn-Øm-]\ hkvXp-¡fpw , A\p-]q-cI hkvXp-¡fpw X½n-ep-ff hy-X-ym-k-§Ä 
DZm-l-cW klnXw Fgp-Xp-I. 

18. QS = 20+P 
QD= 50-P 
a. k´penX hne Is­-̄ Pi 
b. k´penX Afhv Is­-¯pI 

 



19.When the price of a coconut was Rs.50/, quantity demanded was 10 kg and when the price increased to Rs.100/ 
quantity demanded was 5 kg.find out the price elasticity of demand. 

20. Write any three features of indifference curve. 

Answer any 4 ( 4 X 4 = 16 ) 

21(a).Explain the relationship between market interest rate and bond price. 

  (b)Define liquidity trap. Explain it with the help of a diagram. 

22.(a)  Define budgetline. 

    (b) Write the equation of the slope of the budget line. 

   (c) If the price of the good 1 is Rs10/ and good2 is Rs5/, income is Rs500/. Write the equation of budget line. 

23.Explain diagrammatically the law of variable proportion. 

24. If value of output is Rs5000/,value of intermediate good is Rs2000/ and depreciation charge is Rs500/ 

(a) Find out GVAi                (b) Find out NVA i 

25. Draw the PPC on the basis of given schedule 

Possibilities: A       B       C       D           E           F  

Wheat         :0        1        2       3           4           5 

Machine      :15     14       12     9          5           0 

Answer any 4   (   4  X  5  =  20 ) 

26. Complete the flow chart 

    Govt Budget 

        

 

 

27.(a) Define barter system 
     (b) Write any 4 drawbacks of barter system 

28. Complete the following table. 
Output TVC TFC TC AFC AVC SAC SMC 
O 0 20      
1 5       
2 10       
3 15       

 



19. Hcp \mfn-tI-c-¯nsâ hne 50 cq] Bbn-cp¶t¸mÄ tNmZ-\-¯nsâ Afhv 10 
Intem bpw hne 100 cq] Bbn IqSn-b-t¸mÄ tNmZ-\-¯nsâ Afhv 5 Intem 
Bbn Ipd-bp-Ibpw sNbvXp. tNmZ-\-¯nsâ hne Cem-kvXn-IX ImWp-I. 

20. \nÊw-KXm h{I-̄ nsâ 3 {]tX-y-I-X-IÄ Fgp-XpI . 

IV.  GsX-¦nepw 4 F®-¯n\v D¯-c-sa-gp-XpI      (4 X 4=16) 

21.  a. It¼m-f-]-en-i-\n-c¡pw , t_m­v hnebpw X½n-ep-ff    
    _Ôw hni-Zo-I-cn-¡p-I. 
b.  {Zh-X-z-s¡Wn F´v ?  Nn{Xw hc¨p hni-Z-am-¡pI  

22.   a.  _Päv sse³ \nÀh-Nn-¡pI 
 b  _Päv sse\nsâ Ncn-hns\ kqNn-¸n-¡p¶ ka-hm-Iyw Fgp-Xp-I. 

  c  DÂ]¶w hne 10 cq]bpw DÂ]¶w 1 sâ  hne 10 cq]bpw     
    DÂ]¶w 2 sâ hne5 cq]bpw D]-t`m-àm-hnsâ hcp-am\w 500     
    cq]bpw  BsW-¦nÂ _Päv sse³ ka-hm-Iyw Fgp-Xp-I. 

23. hnt`ZI A\p-]mX \nbaw Nn{Xw hc¨p hni-Z-am-¡pI 
24. A´na De-]-¶-̄ nsâ aqeyw 5000 cq]bpw a[-ya hkvXp-hnsâ aqeyw 2000 

cq]bpw  tXbvam-\-s¨-ehv 500 cq]bpw BsW-¦nÂ  
1. Iq«n-t¨À¯ sam¯w aqeyw ImWpI 
2. Aä-aq-eyw ImWpI 

25. Xmsg¯¶n-cn-¡p¶ ]«n-Isb ASn-Øm\am¡n DÂ]m-Z\     km[-yXm h{Iw  
hc-bv¡pI  

km[-y-X-IÄ     A   B  C  D  E  F  
tKmX¼v        0   1 2 3 4 5 

 sajo³      15 14 12 9 5 0 
 

GsX-¦nepw 4 F®-¯n\v D¯-c-sa-gp-XpI       (4 X5=20) 
26.  Xmsg-¯-¶n-cn-¡p¶ NmÀ«v ]qÀ¯n-I-cn-¡pI 

Kh¬saâv _Päv 

 

 dh-\yq _Päv     aqe-[\ _Päv 

27.  a. _mÀ«À k{¼-Zmbw hni-Z-am-¡pI 
b.  _mÀ«À k{¼-Zm-b-¯nsâ 4 t]mcm-bva-IÄ Fgp-Xp-I. 

28. ]«nI ]qÀ¯n-bm-¡pI 

DÂ]¶w   TVC    TFC  TC   AFC  AVC   SAC    SMC 
0     0     20 
1     5     - 
2    10     - 
3    15     - 



29. Briefly  explain the  5 degrees of price elasticity of demand. 

30. What are the 3 systems of exchange rate determination in an open economy. 

(a) Explain any one. 

Answer any 2     ( 2  X  8  =  16  ) 

31.Central bank is the apex monetary authority of a country. 

(a)Name the central bank of India 

(b)The rate at which central bank lend money to commercial bank. 

(c)Write any six functions of central bank. 

32.What is National income? Explain briefly about different methods of estimating national income. 

33.What is market equilibrium? What is excess demand and excess supply? 

Usually govt interferes in the market in two different ways.what are they? 

(Hint: price ceiling, price floor).      

    --------------------------------------------------- 
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29. hne Cem-kvXn-I-bpsS 5 Un{Kn-IÄ Fgp-Xp-I. hni-Zo-I-cn-¡pI 

30. Hcp Xpd¶ k¼Zvhy-h-Ø-bnÂ  hn\n-ab \nc¡v \nÀW-b-¯nsâ 3 coXn-IÄ  
GsXÃmw ? GsX-¦nepw Hcp coXn hni-Zo-I-cn-¡p-I. 

GsX-¦nepw 2 F®-¯n\v D¯-c-sa-gp-Xp-I.    (2 x 8=16) 
31. tI{µ _m¦mWv Hcp cmP-y-¯nsâ ]W kwhn-[m-\-¯nsâ Gäphpw DbÀ¶ 

Øm]\w . 

a. C´-y-bpsS tI{µ-_m¦v  GXv ? 

b. hmWn-Py _m¦p-IÄ¡v tI{µ-_m¦v ]Ww ISw  \ÂIp¶ \nc-¡nsâ t]cv? 

c. tI{µ_m¦nsâ 6 [À½-§Ä Fgp-XpI  

32. a. tZiob hcp-am\w F¶m-se´v ? 

b. tZiob hcp-am\w IW-¡m-¡p¶ hnhn[ coXnIÄ  Npcp¡n hnh-cn-¡pI 
33. a. It¼mf  k´p-en-Xm-hØ F¶m-se´v ? 

b. A[nI tNmZ-\hpw A[nI {]Zm-\hpw hni-Z-am-¡pI 
c. km[m-c-W-bmbn Kh¬saâv 2 coXn-bn-emWv It¼m-f-¯nÂ CS-s]-Sp-¶Xv . 
GsXÃmw ? 
(kqN-\þ Xm§p-hn-e-bpw, hne-]-cn-[nbpw)  
 

 


